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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B — Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question carries
1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question carries
3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question carries
4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions
are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions has to be
attempted.

SECTION A

Macro Economics

is the total volume of money held by the public, for the purpose of
disposing off, at a particular point of time.
(Choose the correct alternative to fill in the blank) 1

(A)  Term deposits (B) Demand for money
(C)  Money supply (D) Credit creation
Under exchange rate system, the Central Bank and Government of the

country do not have any authority to interfere in the exchange rate determination.

(Choose the correct alternative to fill in the blank) 1
(A)  fixed (B) floating
(C)  managed floating (D) gold standard
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3. 3 avl FRE 99H T W, o HROT fopet Tog o I dqed |

ST RIS a4 &1 AT R |
(Feart T 1 /A o T ot fasbea smr s ifsrn).

(A) ST I T o Fafd § 3fs
(B)  Sifek Qaredt & T o Ft
(C) A o f=rfa o =t

(D) fodet 1 Sfvd e & 3fg

4.  WH A foF, Tk Tedieh Tefeeree H, s sieh AT STUTd I 10% § TG
25% L 4T 8 | TR ST TRT 1 T 1,000 IS TR Wid §Y, HaT Y5 Al Fel
uferz g & e |

(T T T Wi o fore w2t foheq T sA ISy 7

(A) 10,000 (B) 4,000

(C) 6,000 (D) 5,000

5. Twfaftad s 1 ermgde st hifs 1

Fo [ Tordt fg-aees srelsgaeen § ol T 3cTe (GNP) el S 3ca1e
(GDP) ¥ 3R g1 &ahaT |

w2 Torelt fi-amren sreforaen # foen & e faer Rk o1 YT St 7
feu U et & el |, Fefoilaa ° @ w@t farere o1 = ifsie

(A) FHIYT ] TT R AN HIT2 AR |

(B) YT TR IANFIT2HATR |
(C) HIT1 M2 TR |
(D) YT 1 32 AT TR |
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3. Keeping all other factors constant, trade surplus may arise in the Balance of

Payments of a nation because of

(Choose the correct alternative to fill in the blank) 1
(A) rise in export of coffee to Japan
(B)  fall in import of banking services
(C)  fall in exports of cereals

(D)  rise in remittances to abroad

4. Suppose in a hypothetical economy, the Central Bank increases the reserve ratio

from 10% to 25%. Keeping the amount of initial deposits constant at

T 1,000 crore, the amount of total money creation would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1
(A) 10,000 (B) 4,000
(C) 6,000 (D) 5,000
5. Read the following statements carefully : 1

Statement 1 :  Gross National Product (GNP) can be greater than Gross

Domestic Product (GDP) in a two-sector economy.
Statement 2 : Net factor income from abroad is zero in a two-sector economy.

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

58/S/2 ! P.T.O.
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6.  UEAN i, FHHfARad § & Hi-a1 faere ST 3 ST 3T o sie STuTiash
Hele] T ST § | 1
(A) €T TN FGRT (MPC)/3 T TR Y4 (APC)

(B)  HMHId ITHNT FGRT (MPC) < 3THd 371 Ygf (APC)
(C)  €Hid ITHNT TRt (MPC) = 3THd 34T Y9 (APC)
(D) €T ITHAT FGRT (MPC) = 1

7. fordlt srederaer o, T % ATY-3TTY (break-even) X <hT ferfror KES
IERISIRETIES
(i) €T ITAN TG (MPC) = HiHid s=rd SgRT (MPS)
(i)  F(Y) =397 (C)
(i) = (S)=0
(iv)  STd 3T TG (APC) = 3i16d s=id Yai (APS)
(Feara T &t A & fore w&t fasheg T s fifsmy. 7

IEETS I

(A) A (i)
(B) (i) AW (ii)
(C) (i) 3N (iii)
(D) (i) A (iv)

8.  Trmfciiiaa sheri st eamgee sTega <hife : 1
FYF [ ;S ITHIT TG (APC) A SUHIT H € ¢ Giare o &sier o et A
¥ gfterd T g9t 7 |
FHYT2 . A AT UG BT @, A ST H gRada (AC) Tt oft 31 o ufteraq
(AY) & fersh 78 & Tk 2 |

foq 7T SRl o TR H, FEfeRad § © 9=l forehed o1 = Hifg
(A) HIT | TT 8 IANFHFIT2 AT T |

(B) YT IWTE AN FIT 2 TR |

(C) FHUT1 AT 2N T |

(D) HUT 1 A2 THI T E |
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6. Identify, which of the following options exhibits the proportional relation
between consumption and disposable income. 1

(A) Marginal Propensity to Consume (MPC)/Average Propensity to

Consume (APC)

(B) Marginal Propensity to Consume (MPC) < Average Propensity to
Consume (APC)

© Marginal Propensity to Consume (MPC) = Average Propensity to
Consume (APC)

(D)  Marginal Propensity to Consume = 1

7. In an economy, break-even level of income can be determined, when
(1) Marginal Propensity to Consume (MPC) = Marginal Propensity to Save (MPS)
(1i1))  Income (Y) = Consumption (C)
(i11)  Savings (S)=0
(iv)  Average Propensity to Consume (APC) = Average Propensity to Save (APS)
(Choose the correct alternative to fill in the blank) 7
Alternatives :
(A)  Only (i)
(B) (i) and (ii)
(C)  (ii) and (iii)
(D) (1) and (iv)

8. Read the following statements carefully : 1

Statement 1 :  Average Propensity to Consume (APC) represents the change in
total income with respect to a given change in total consumption.

Statement 2 : When income changes, change in consumption (AC) can never
exceed the change in income (AY).

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.

(B)  Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

58/S/2 ! P.T.O.
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9.  Ueh hlcuieh sTdeuewyT o fow Te Ja @ ok
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37d o=rd 9T (APS) = 0.4

S (Y)

T 3T (C) N

fraer Tures ot e

A) 5
© 4

10. T HJH T

3wy

F 100 FS
F10 WS
(Feara T &t A & fore w&t fasheg T s fifsmy. 7
(B) 2
(D) 10

Trar Y faga (ROW) W fadfia grat 6 faer uftad=

far 2|
(Feara T &t A & fore wt fasreg T s fifsmy. 7
(A) =R (B) dsft
(C) =1 (D) I
1. (%) U1 eI o 51 9o o [fedred (1mern) a6 €, ot o queh-g9e gl
YITTEAR "
AT ATY U T HY T TEAA B ? 379 I oh GHYT H A& 10T 2 197T | 3

AT
(@) =T WA % =1 3T 37 TAT 6k HH Bl oh U1 o SHROI bl L@ifohd shiSTC | 3

12. ToU T HAfwST % STUR T, A€ A T I[E 973 16 (NVARC) % T I ST

[SRLLERS 3
HAG. 73 i @ HIS )
(i) | ferhr 2,500
(i) | <o OTeT T KT 700
(i) | ETeh | gfEd 100
(iv) | Gohat T 500
(v) | SIS STeE 300
(vi) | = Fraw 400
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I
9. For a hypothetical economy, it is known that :
Average Propensity to Save (APS) = 04
Income (Y) = < 100 crore
Autonomous Consumption (E) = < 10crore

The value of investment multiplier would be
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 2
< 4 (D) 10
10. The account of Balance of Payments reflects the net changes in
financial claims on the Rest of the World (ROW).
(Choose the correct alternative to fill in the blank) 1
(A)  Trade (B) Capital
(C)  Current (D) Visible
11. (a) “Devaluation of currency and depreciation of currency have the same

implications, but they originate from divergent sources.”

Do you agree with the given statement ? Give valid reason in support of

your answer. 3
OR
(b)  Outline the meaning and reasons behind narrowing down of Current
Account Deficit. 3

12.  On the basis of the given data, estimate the value of Net Value Added at Factor

Cost (NVAF(Q) : 3
S. No. Items Amount (% in crore)
(i) | Sales 2,500
(i) | Purchase of raw material 700
(i) | Change in stock 100
(iv) | Gross Investment 500
(v) | Net Indirect Taxes 300
(vi) | Net Investment 400
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13. (%) 9 TAIRIG 5T AT (AD) SeATRIa 963 STfd (AS) ¥ 9 &, 1 aiumeEy
HAUTETA AT (Inventories) T €T BIAT © |7

HO I AT Y o FIT e H0T < g, TIQ 7T shor skt wmel 3tera T shifsig | 4
arera
@) fordl st stefeaen & fau Fmfafad = o

() T STHIT = (C) =% 25 Fg

(i)  ©Wid s=d gaikd (MPS) = 0.1

(iii) A H TR (Y) =% 2,000 FS

(iv) T Fae () =% 25 s

TN SAFTET HAFAT ST & 2 2 JeF TORISAT T 3o I 1 Sifere g

e | 4
14. T=fafaa o & ereem Sifse 4
~
T fistd son
| |
N N N
W dalg T LEERUIRCR k)
< I GA TSR H
FLHRAT S S T FhdT &
fosra s gRaT

(i)  wehfaa Rufd 6 vg=m A |

() 3= Rufq & ot w1 & fo7w w fonedi <1 shedt il same il s foh RBI &
T 33T ST Hehd @ |
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13. (a) “When ex-ante Aggregate Demand (AD) falls short of ex-ante Aggregate

Supply (AS), it results in an accumulation of unintended inventories.”

Defend or refute the given statement, giving valid reasons in support of your

answer. 4

OR

(b)  Assume the following for a hypothetical economy :
(1) Autonomous Consumption Expenditure (6) =T 25 crore
(i1)  Marginal Propensity to Save (MPS) = 0.1
(iii) Level of Income (Y) = T 2,000 crore

(iv)  Autonomous Investment (I) = T 25 crore

Is the economy in equilibrium situation ? Justify your answer with valid

calculations. 4
14.  Study the following image : 4
N
Reserve Bank of
India
|
N N N

Sell government
L Increase Reverse
Increase Repo Rate securities in the
Repo Rate
open market

(1) Identify the indicated situation.

(i1)  Explain any two steps which may be taken by RBI to correct the situation.

58/5/2 Page 11 ! P.T.O.
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17.
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T HI I LR R | 4
(i) USRI =1 T TSR B AT AT i o oY SR &l ot Secid
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N E])

)
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Fffepet fefam T Tehel 8 17
A ifSTT 3 319 R TR & TR famT o wew € | R #T &
SO ohT Te=IT U 3k oo I i | 310 filt ft werar s | 3

(i)  “SSIe % A TN — =1 AT AN, ARRIY e I H(Ad asie, B Fohdl
i
FIT ATY 4T T 9T T THd § 2 379 I & G § 3¢ shror i |
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“The Reserve Bank of India (RBI) performs the same function for the

government as the commercial banks perform for the general public.”

Discuss briefly any two such functions performed by the Central Bank for the

Government of India.

(a)
(b)

(a)

(b)

Differentiate between final goods and intermediate goods.

“Externalities can be classified into negative or positive, however it is not

necessary that they will be directly correlated with the Gross Domestic

Product.”

Do you agree with the given statement ? Give valid reasons in support of

your answer.

(1)

(ii)

(1)

(ii)

“The Union Budget 2023 —24 had proposed an allocation of
T 22,138 crore to the Micro, Small and Medium Enterprise (MSME)
Ministry.”

Identify and explain the objective that the government is trying to

achieve with the proposed expenditure.

State the formulae for calculating fiscal deficit and revenue deficit.

OR

“Tax revenues, an important component of revenue receipts, can be
further classified into two categories.”

Imagine yourself as a member of Department of Revenue of the
Government of India. Help your friend to identify and differentiate

between the two categories of taxes.

“A budget can be deficit, surplus or balanced.”
Do you agree with the given statement ? Give valid reasons in

support of your answer.

collegedunias
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TR 3TTf R forerrer

18. = o @] fohu g U Y ST % ATy feTaTd | o fiwee
S ot |

(Feera v &t i@ & foe ot fapeg FT s Fifsw) 7
(A) q;?ﬁ"'l?f TJI'{«_gf?:ﬁ * TSIIHTT (Nationalisation)
(B) tTSﬁTIﬁ ‘OI"v_g_[Gﬁ &+ ﬁTI@HWUT (Denationalisation)
(C)  Uwd-EdH Aifd
(D) fg-damifa

19. o1 Y Ieare ¥ foferefiehor o dehfcush |1d & 9 | afieha foraT ST
AT R |

(TR T2 =T o o ToTe wielt fosheg ST s ifstw)
(A) =@ i (B) W@
(C) Sifosm & (D) THETA Y

20. Ffcifaa wemt i ufgu — TR (A) 3R &R (R) | A= fiw e foesreat 0 @ @&t
ﬁwaﬁq: 1
I (4) : A YST HT SIS H SATIR AL [T ST HRAT, STelfeh $8hl HaTHA| o

ST fohaT ST @R ® |
FRO(R) . WG GSI ST WA A BT R |
IEETR
(A) IR (A) 3R RO (R) THT T 8 X SR (R), ANTFLT (A) T Tt
ST HATR |

(B) Y (A) 3T FHWOT (R) ST TF §, Afeh SROT (R), 3frameq (A) Fi Tt
ST 78T AT 2 |

(C)  SAMMFHUT (A) H 8, TAfehT SHRUT (R) ST ¢ |
(D)  SATIFAT (A) TE 8, AfehT SHROT(R) T ¢ |
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SECTION B
Indian Economic Development

measure introduced in China led to the decline in its population as
well as sex ratio.
(Choose the correct alternative to fill in the blank) 1
(A) Nationalisation of capital goods
(B)  Denationalisation of capital goods
(C)  One-child norm
(D)  Two-child norm

can be classified as one of the alternative sources of diversification

from farm output.

(Choose the correct alternative to fill in the blank) 1
(A)  Green Revolution (B) Horticulture
(C)  Organic Farming (D) Conventional Farming

Read the following statements — Assertion (A) and Reason (R). Choose the

correct alternative given below : 1

Assertion (A) :  Human capital cannot be traded in the market, whereas its

services can be traded.

Reason (R) : Human capital is intangible in nature.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

collegedunias
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21, T=fafad s 1 ergaes TR hifsg : 1
FYT [ SRR TR FRT AR HTY 1 ATHTAHT STeAYeleh/ TR &9 H
SR fofarm T o |

FYT 2 W BEA! h IATE ! AN FLA o T SIS o e I o |
foq 7T SRl o AT H, AEfiRad § © 9=l foehed o1 = hifg

(A) HIT 1 TT 8 IANFHFIT2 AT T |

(B) YT 3T AN FIT 2 TR |

(C) FHIT1IM 2T TTE |

(D) HUT 1 T2 AT E |

22. WRd, =9 I urfeREa § 9 fimfereh Y o e sIeT TS ©, 99T 37
1 Tregi | SRt Tca gerd =
(e T ol 9 o ToTC & fohed T sRA ISy 7
(A) =M, AfE (B) iR, &1
(C) R, A (D) =M, %A
23. T=fofea o @ gt swye i vgeme il 1

(A)  TEAAT SUL, TRA o THTSTETE 3Tefedaeel 79T off |

(B) T Tfieh st ot derarTar Aisnatt o wrearm & R forar o |
(C) IR EThT ST ST & o Sfarid {0 Gawi i AR fora o1 |

(D) A H ¥oheT ={e] 318 (GDP) H Frere o forg sitenfies & & <fifma weet

fSrEr o |
24. 39 depfcqeh OO < Al GEEH AT S, qeAd: U, SRR o USe o
HAfAd 81 € | @& ooy F e fiflvwy 7
(A) AU HE

(B) TSUUR e
(C) TSR
(D) S HTE
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Read the following statements carefully :

Statement I : The commercialisation of Indian agriculture was coercively
introduced by the colonial government.

Statement 2 :  Britishers had a two-fold motive behind the enforcement of food
crops production.

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

is geographically the largest nation among India, China and

Pakistan and its density is among the three nations.

(Choose the correct alternative to fill in the blanks)
(A)  China, highest (B) Pakistan, lowest
(C)  India, lowest (D) China, lowest

Identify the correct statement from the following :

(A) India adopted the socialistic economic system after Independence.
(B) Indian economic planning was implemented through Five Year Plans.

(C)  Land reforms under industrial sector were implemented by the Government
of India.

(D)  Policy initiatives in the industrial sector were responsible for decline in
Gross Domestic Product (GDP) in India.

Identify the alternate marketing channel that operates majorly in Punjab,
Haryana and Rajasthan. (Choose the correct alternative)
(A)  Apni Mandi

(B)  Hadapsar Mandi

(C)  Rythu Bazars

(D)  Uzhavar Sandies
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25. 1978 ® = yrtw forg g amifefer gumi o stara, faaeht Frarwment it serfda 1 &
foag 1 T Y TS off |
(Fear T &1 v & e ot fashe T s fifsmy. 7
(A)  9oT &= (B) o &t
(C)  Tomiw g & (D) foriw anfdler &=t

26. 1965 |, AT A T YR foma, fSteeh 3iaria S o USiedl bl TTHIOT &1
T o o a7 HiEe o forg =i e e |

(TR oI T R o foTe wiet fosheg T A hifsiT)
(A) U AT BRAS AN
(B)  HFIT urTedt
(C)  RH HogR HiEah(dsh shifd

(D) AT IhTE JISTT

27.  SHUSI A ARA o ATATA-ATd T ChTTRrehT FrRisr sHTe W o, Sfefeh 3@ 31 a3 e
o o |1 W 3T AT of |
(Feert T &1 /A o T ot fasbea st s hifsrn).

i .
() T oft <o)
(i)  ofsfam (ST
1%!7*?1:
(A) A (i) (B) (i) AN (ii)
(C) (i) 3R (iii) (D) (i), (ii) 3 (i)
28. (F) SUHAMRTE e & A fohral i STHTRETH T Heheahl T Seeid SIS | 3
YT
(@ BNG Hifd T 9RA B WEA § ATAATR s foor 8, utq oo
(ecological) 3T U SHehT AT HI T 1

T SATY TG TTT K9 & TEHA & 2 3T I o e H g FRO @ o | 3
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Under the economic reforms introduced in China in 1978, were set up to
attract foreign investors.
(Choose the correct alternative to fill in the blank)  /

(A) Remittance Zones (B) Land Zones
(C)  Special Commune Zones (D) Special Economic Zones
In 1965, Mao introduced the under which students and

professionals were sent to work and learn from the countryside.
(Choose the correct alternative to fill in the blank) 1

(A)  Great Leap Forward Campaign
(B) Commune System
(C)  Great Proletarian Cultural Revolution

(D) Medium Term Development Plan

Britain maintained a monopoly control over India’s exports and imports while

the rest was allowed with a few other countries like

(Choose the correct alternative to fill in the blank) 1
(1) China
(1)  Ceylon (Sri Lanka)
(1)  Persia (Iran)
Alternatives :
(A)  Only (i) (B) (i) and (ii)
(C)  (ii) and (iii) (D) (1), (i1) and (ii1)
(a) Enumerate any three demographic indicators under the colonial rule. 3
OR
(b)  “Green Revolution made India self-sufficient in food grains, but was

criticized on ecological grounds.”
Do you agree with the given statement ? Present valid reasons in support of

your answer. 3

collegedunias
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29. feuTu o ° Tunig e ufifeufa i ugmme i qur g@ guet 9t R 9 & fag
Toreft W TTet ot hl s hifeie | 3

e :  FEfcTRad o7 A gieeaTiera udterieral & forg I G 29 % T W E |

Afverer Ivorar skt wHET 9T guTet @ ¥ e g o fore feeet weR worifa shr st
TS | 3

30.  wRa # e o fafi Tl X = S STaa H Ear g |
Y ST AT B TG T Ho HT T 72T G T | 4

58/5/2 Page 20
g collegedunia:



[OFH O
[

29.  Identify the situation depicted in the given figure and explain any one strategy

to effectively overcome the problem. 3

Note :  The following question is for the Visually Impaired Candidates only in lieu of

Q. No. 29.
Explain any one strategy to effectively overcome the problem of global warming. 3
30. “Expenditure on different levels of education in India is in the same
proportion.”
Defend or refute the given statement, giving valid reasons. 4

collegedunia:

‘ India’s largest Student Review Platform

58/5/2 Page 21 ! P.T.O.



“@@ﬁﬁmwﬁwsﬁwsﬁsﬁr—waﬁ%@%ﬁ@w

3. (&)
FHFATR 1"
39 21T H YRA TR g1 33T T feheell a1 el shl Gefierg st SUged e o
it forg Sifsw | 4
JrraT
@)  “forrd % Nt H, YRA § WHRRTd HY § STehldeh/storeh iy sht ST TrHia
QIR |
Sfoeh IcTEl it IR 30 TAIRIT & N o Tl &7 SHRON i w@iered ==
EQIS 1 4
32. T=faReaq Afwsl & 3murR W, =7 T iihea™ & o UsTR o Scared J qiadd i
EAET A L == hIT 4
AR 3R GVA w1 & fEear 2018 - 2019 & (%)
fermr GVA &I IaH eIt T fraTor
IR 9 | wifhEdH | YRd =4 qTfehed
HY 16 7 24 43 26 41
3T 30 41 19 25 28 24
Tt 54 52 57 32 46 35
FHA 100 100 100 100 100 100

B 2 74 Tashre Ra1e 2019 : TR SR S210d 2019 % I7E G |

33. S-S 1S Fefegae foRiid Bl ®, U9 srefsgaeen § e

SRl sht €T | off fg et 8; TR oft 1991 3 e & WRd 36 3{TaE
% &Y H I HL G TR |7

AT 3T 3T T 2 & TEHA € 2 3T IO o 967 H oY 9k Tqad hIg | 4
(i) SUFHA ITTELT G Foedw SUSTTR] <hl qiewTen i | 2

CORNN(Y

YT
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31. (a) “A sound agricultural marketing system works as the backbone of any
agro-system of any nation.”
Justify the above statement by listing any two steps taken by the Indian
government in this direction. 4
OR

(b) “Over the past few years, India has witnessed a shift from traditional
conventional farming to natural/organic farming.”’

Discuss briefly any two reasons behind this shift towards organic produce. 4

32.  On the basis of the data given below, outline and discuss the shift in employment

and output for China and Pakistan : 4
Sectoral Share of Employment and GVA (%) in 2018 — 2019
Sector Contribution to GVA Distribution of workforce
India China | Pakistan | India China Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific 2019.

33. (a) (1) “As an economy grows, the number of employed persons in an
economy also increases; however, since 1991 India has come up as an
exception to this.”’

Do you agree with the given statement ? Give valid arguments in

support of your answer. 4
(i1) Define disguised unemployment with a suitable example. 2
OR
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@) () AU T o § e ot ant & fefia sva wria g
SUYh Y H R T USTIR o6 FehR hl 8= L H&T H AATHINT | 3

(i) | Gohdeh T A0 warzy, foraert forelt g & Tt st feerfar a1 fargersor
F T I STANT Rt ST © | 58k e bl ot =il hifeig | 3

34.  Tmffiad e eages steme i

SIS 1991 o SIS o @1 T 1 T SEI-3E STSTR-SATTNG Tefqarea i
T TS G & 987 § Teh TO< qiga- STM=T 97 | s § IRy foy 7w samariies
ST o HiaW Fgd AT o, BT FTehT 1T et T T 30 FHufl-ahefl weprae oft
Tt T of |

1991 o G % HeASd] AT 9 IS g3l i BIght Al TEHAT W
AT ATSHH oh! FHTCA hT [T o7 |

ST FEU, ST foh SATATA J[eeh €8 I 30% &, ATSHH o Sl Wl 8 | 7
Teh 1% YN, foavd SR E@13T (WTO) | 9Rd & ST AT3eRl §1T U Thal
Y o TR 5T eGSRl i TTSHE § Fofd o fem TR o |

A H, T TR0T/ e /G 6 TR W IEhd FHo TEGHAT hl DI, q¥lt
SREAT ol T SATSEw AT 3= et o ST foham ST HhT € |

ATSHE B o ©TY, ¥ ST Yoo 3L ST 9T THTell Fidsier a1 175 off | 3aferg,
3Tfeleh G ohT Uk ST ShTef SATATA Yok QX bl W AT T&T 8 | ST Yok H haldt
e ®9 4 -H, e aeqeil e & difa 2 |

FATY, ITRIHLIT 3 SRE3AT T FHSIAT § ARL Bl € | AT Yook H FHT [eah
4 shitieh FIEE o HIETH | 9T ol 775 © | ST Yooh oS o §EAT § i o A |
TAT Y[eeh TTHT o Tk BT JAehA0T 39 [T H SErrar 61 off |
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(b) (1) “Neha has been working in a multinational corporation since the past
five years on the payroll of the company”.
Identify and briefly explain the type of employment indicated in the

above statement. 3

(i) Name the indicator that is generally used for analysing the

employment situation in a country. Also discuss its importance. 3

34.  Read the following text carefully :

With the July 1991 budget, there was a clear switch in favour of a move
towards an outward-oriented, market-based economy. The liberalisation steps
initiated in the budget were very comprehensive although the pace remained

gradual and there were occasional hiccups.

The 1991 reforms did away with import licensing on all but a handful of
intermediate inputs and capital goods.

Consumer goods, accounting for approximately 30% of tariff lines,
remained under licensing, Only a decade later, after a successful challenge by
India’s trading partners at the World Trade Organisation (WTO), were these
goods freed of licensing.

Today, except for a handful of goods that are disallowed on
environmental/health/safety grounds, all goods may be imported without a license
or other restrictions.

With the removal of licensing, the tariff rates became effective restrictions
on imports. Therefore, a major task of the reforms has been to lower the tariff
rates. Tariff reductions have been mainly confined to non-agricultural, industrial
goods.

Therefore, the liberalization applies strictly to these goods. The reduction in
tariffs has been achieved through a gradual compression of the tariff rates. A
simultaneous rationalization of the tariff structure through a reduction in the
number of tariff bands helped in this direction.
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20 0 T F W I % AR W FEfiRad TET % 3w AT

() 1991 % a9 H URW T QT 0T UR FQd =uE A |
1991 o ST AR § & forgl a1 R Fori s SAmed id g¢ g 1w
U 1 3o fag Hifv | 4

(i) U TRl a1 & b1 St ST SiH STRIT STesh | il ol 71g off | 2
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On the basis of the given text and common understanding, answer the following

questions :
(1) “The trade liberalization reforms initiated in 1991 budget were very
comprehensive.”

Justify the given statement explaining any two trade reforms introduced in

1991. 4

(1)  State any two areas in which tariff reductions were introduced. 2
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